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c=a+2b a=c-2b b=C;—a
— 2ab — _bc —
- aib a= 2bfc b= 22:
c=ab a=ﬁ b=¢
a
c="32Lb a=2c-b b=2c-a
c=a-b a=b+c b=a-c
c=+ab a=% b=‘;—2
c=4la%+b?% |a=+/C2-b? |b=+/C?-3%
— ab? _ 2¢c _ V2 V¢
c= a= < b= 7
— abk? _ 2(c-10) _ J2 Ve 10
c=2>+10 | a = b= Iz
1 2 3c %\/?
c=§rrab a=—>z b= 7z
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29.
c=a+b a=c-b b=c-a
c=a+2b a=c-2b b=5‘?a
c=2 a=bc b=24
(o
_ ab _ 2¢ — 2¢
c=5 a=*% b= .
— ab _ 3¢ — 3¢
C=7 a=7 b= a
c=a-b a=b+c b=a-c
— _ c=2nb _ c-2rma
c=2m(a+b)| a=%5Ek b=
c="32Lb a=2c-b b=2c-a
— — C — C
c=ab as=; b_a
— 2ab — _bc _ _ac_
c a+b a= 2b-c b= 2a-c
c=2(a+b) |a=1(c-2b)|b=1(c-2a)
c=+ab a=% b=<;_2
c=4la%+b? |a=+/c2-b? |b=4/%-a?
— ab? _ 2c _ Y2 ¢
c= a="< b= 7
— ab? _ 2(c=7 _ N2 V-7
C=a7+7 a=“3 b /s
1 2 3c %\/F
c=grmab a=—> b= s




30.
c=2rm(a+b)| a= 2Kk b= 212
27T 277
c=ab a= < b==¢
b a
— 2ab _ _bc _ _ac
C a+b a= 2b-c b= 2a-c
— ab _ 3¢ _ 3¢
3 a= b b= a
c=42k a=2¢ b=2
2 b a
c=a-b a=b+c b=a-c
c=a+2b a=c-2b b=C;—a
c=2 a=bc b=2
b c
c=a+b a=c-b b=c-a
c=2(a+b) |a=1(c-2b)|b=1(c-2a)
c=% a=2c-b b=2c-a
2
c=+ab a=% b=%
c=+la%+b? |a=+/C%-b? | b=+ ?-82
2
va
— ab? _ 2(c-8 _ A2 -8
c=9>+8 a=“3 b s
1 2 3 Ve
— 1 _ c - T
c=grmab a=—> b= 7z
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